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SECTION - A
Q1. Students A and B connect the two resistqrari®l R given to them in the mannersgho
below:

a b1 k1 d
'I 1
X X

and then insert them at X and Y into the measuri 'wown below:

X 7$
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4
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L 4
will determine ht equivalent resistance of the series combinaticemadf R

*

We can then say

A will determine the equivalent resistance of the series combination while student B
determine the equivalent resistance of the parallel combination @hdRR
tudent A will determine the equivalent resistance of the parallel combination while student
will determine the equivalent resistance of the series combinationasfd=R




Q2. In the experiment on finding the equivalent resistance of two resistors connected in series, three
students connected the ammeter in their circuits in the three ways X, Y and Z shown here.
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Assuming their ammeter be ideal, the ammeter have bee I)’connected in
1. cases X and Y only
2. cases Y and Z only
3. cases Z and X only

4. All the three cases

eSistance of two resistors, connected in parallel,
three students connected the voltmeter J cireuits, in the three ways, X, Y and Z shown

ter has been correctly connected in
ases X and Y only

. cases Y and Z only

. cases Z only X only

4. all the three cases




Q4. The rest positions of the needles in a millimeter and voltmeter not in use are as shown in Fig.
A. When a student uses these in his experiment, the readings of the voltage in the experiment

are
=0 %

O
(A)
(B)

1. 42mAand 3.2V
2. 42mAand 4.0 V ¢
3. 34dmAand 3.2V
4. 34 mAand 4.0V
Q5. A student performs the experiment on tracing t a ray of light passing through a
rectangular glass slab for different angles Ci . He measures the angle of incidence |,

angle of refraction r and angle of emergence*®,for all his observations. He would find that in
all cases

1. Oiis more thandr but (nearly)
2. [Oiisless tharilr but (nearly
3. Oiis more than e but (ne

4. [Oiis less thard e but (nga

candle flame orfithe screen
1. the screemin the direction of the lengtwr lens in the direction of the screen

2. thes direction of the lendlor lens away from the screen
3. thes ay from the lenstbe lens in the direction of the screen
4 e screen nor the lens

Screen (3D
Clandle (D Lens (L)
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Q7. The focal length of the concave mirror in the experimental set up, shown below, equals

10.3cm
11.0 cm
11.7 cm
12.2 cm

PONPE

Q8. Ethanoic Acid was added to Sodium Bicarbonatgss

s with a pop sound.
(c) The flame extinguishes and the g not burn.

(d) The gas burns with a blue flam linter burns brightly.
The correct observation is report
(1) (a)

(2) (b)

(3) (o)

(4) (d)

Q9. A colourless liquid s le Was tested with pH paper strip. The colour of the strip changed to
reddish pink. THe sample could be

(1) Tap wat L 2

(2) Sodi e solution

Q1 etic acid was added in drops to 5mL of water and it was noticed that
e acid formed a separate layer on the top of water

water formed a separate layer on the top of the acid

a clear and homogeneous solution was formed

(4) a pink and clear solution was formed




Q11. The description which most approximately suits sulphur dioxide gas is that it is colourless and
(1) insoluble in water
(2) has pungent and suffocation odour
(3) lighter than air
(4) has smell of rotten eggs

Q12. When an aluminum strip is kept immersed in freshly prepared ferrous sulphate Selution taken
in a test tube, the change which is observed is
(1) the green solution slowly turns brown
(2) the lower end of the test tube becomes slightly warm
(3) a colourless gas with smell of burning sulphur is observed Q

(4) light green solution changes to blue

observation made is

(1) the surface of the metal turns shining
(2) the reaction mixture turns milky
(3) odour of chlorine is observed
(4) a colourless and odourless gas evol bubbles
Q14. Solid sodium bicarbonate was plac strip of pH paper. The colour of the strip
(1) turned blue

(2) did not change
(3) turned green and suddeply"y, @v
(4) turned light ping

Q15. Before testing the | starch at the end of experiment, “light is necessary for
photosynthesis”, the egmental leaf should be boiled in

(1) water
(2) alcohol
(3) KOH

L 2
Q13. When dilute hydrochloric acid is added to granulatecc@j in a test tube, the

cused the leaf epidermal peel under the low power of microscope but could not
parts. He should

se the coarse adjustment knob again to focus he slide.

se the fine adjustment knob to increase magnification.

Focus under high power using coarse adjustment knob.

(4) Focus under high power using fine adjustment knob.




Q17. Given below is a sketch of a leaf partially covered with black paper and which is to be used in
the experiment to show that light is compulsory for the process of photosynthesis. At ht end of
the experiment, which one of the parts labeled I, Il and 11l will become blue black when
dipped in iodine solution?

(2) lonly
(2) Il only
(3) Iand 1l
(4) land llI

Q18. Each of the three beakers A, B and C contained 50mL of distilled'wate student placed five
raisins in each beaker. The raisins for each beaker weighed the s he beakers were kept at
room temperature. The raisins were removed from beaker Geafter gne hour. On calculating the
percentage of water absorbed by raisins, it was found th
(1) maximum absorption of water by raisins was in b B@

(2) maximum absorption of water by raisins was in bgaker.
(3) minimum absorption of water was by raisins imghe
(4) absorption of water was equal in raisins of all e beakers

&s dents I, Il, Il and IV as stated below:

Q19. The given slides A and B were identifie

Slide B
Daughter cells of Amoeba
Buds of yeast
buds of yeast
Daughter cells_in Amoeba




Q20. In the sketch of the stomatal apparatus given bel

Which one of the following is missing?
(1) Cell membranes of the cells

(2) Cell walls of the cells

(3) Nuclei in the guard cells

(4) Chloroplasts in the guard cells

SECTION - B

Q21. A student carries out the experiment for studying the dependenc rrent (1) flowing

through a resistor system of Bnd R on the potential diffren V) ip led to it by
connection the resistor system to points X and Y of the m Ing Circuit as shown:

[ (o)

ge value of the ratio V/I, of his observations, would then be, equal
ly in cases A and B

only in cases B and C

only in cases C and A

(4) all the three cases




Q22. To study the dependence of current (I) on the potential difference (V) across a resistor R, two
students used the two set ups shown in Figure A and B respectively. They kept the contact
point J in four different positions, marked (a), (b), (c) and (d) in the two figures.
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For the two students, the ammeter and voltmeters readings will be maximum when the contact
J is in the position
(2) (d) in both the set ups
(2) (a) in both the set ups &

(3) (d)insetup Aand (a) insetup B
(4) (a) insetup A and (d) in setup B

s’ to his friend for doing the experiment on
hrough a rectangular glass slab for three different

Q23. A student suggested the followi
tracing the path of a ray of ligh
angles of incidence:

A. Draw the ‘outline’ of t as b at three positions on the drawing sheet.

B. Draw ‘normals’ on the to of these ‘outline’ near their left end.

C. Draw the inciden 8’ onithe three ‘outline’ in directions making angles’o43060°
with the normals @raw

D. Fix two pins@ertically on each of these incident rays at two points nearly 1cm apatrt.

E. Look for iMagés of the ‘heads’ of these pins while fixing two pins from the other side,

Q24. Four s filled with sulphur dioxide gas were inverted into troughs of water by four
the following observations and inference were reported:

did not enter the gas jar and sulphur dioxide were reported:

small amount of water entered the gas jar slowly and sulphur dioxide is sparingly
soluble in water.

Water rushed into the gas jar and sulphur dioxide is highly soluble in water.

(d) Water did not enter the gas jar and sulphur dioxide is soluble in water.
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The correct set of observations and inference drawnc@n

1) (@
(2) (b)
(3) ()
(4) (d)
Q25. Four students A, B, C and D noted the initi@ahcolour of the solutions in beaker I, II, Il and IV.

After inserting zinc rods in each solutio d leaving it undisturbed for two hours, noted the
colour of each solution again




The recorded their observations in the form of table given below:

Student Colour of the I Il Il \Y]
solution

Initial Colourless Colourless Light green BI

A Final Colourless Colourless Colourless loutless
Initial Colourless Light yellow Light green e

° Final Colourless Colourless Light green olourless

- Initial Colourless Colourless i gre’en Blue
Final Light blue Colourles %rless Light blue
Initial Light green Colo ight green Blue

0 Final Colourless ou Dark green Colourless

Which student noted the colour change ig'al

Py

(1) A
(2) B
(3)C
(4)D

Q26. Which one of the fo
and its identification

- dilute
H TaOH

Finc

(%

(b)

Zinc

<dilute
TTachET

four beakers correctly?

T Ta
I pellets

— Zanc

ups is the most appropriate for the evolution of hydrogen gas

w -

dilute
T aE

(d)




(1) (a)
(2) (b)
(3) (c)
(4) (d)

Q27. The temporary mount of the leaf epidermal peel which looked pinkish red under th
microscope was

(1) stained in acetocarmine and mounted in glycerine

(2) stained in iodine and mounted in water

(3) stained in safranin and mounted in glycerine

(4) stained in methylene blue and mounted in water

to demonstrate that carbon-di-oxide is evolved during res

(1) Air tight set up; delivery tube dips in water in beake#

germinated.

(2) Thread holding KOH test tube; air tight flask el
beaker.

(3) Germinated seeds under water in the flagk; e
above water level.

(4) Delivery tube touching bottom of water; %O
covered by water.

Q28. Which one of the following is the correct set of three prem fgr setting up the experiment
?

s seeds which have just

e above surface of water in the
mental set up not air tight; delivery tube

test tube held by a thick wire; seeds

Q29. The following data was obtain rming an experiment for determining the percentage
of water absorbed by raisin

Mass of water in the be =509
Mass of dry raisins =209
Mass of raisins after 3’ ngn water = 309

Mass of water left in thie bgaker after the experiment = 40g
The percentagefof water absorbed by raisins will be

(1) 10%
(2) 25%

me KOH placed in small test tube in the flask with germinating seeds in the
iment to demonstrated occurrence of respiration in germinating seeds?

0 provide oxygen required by the seeds for respiration.

To absorb carbon dioxide and create partial vacuum in the flask.

(3) To absorb water from the seeds to make them dry.

(4) To make the air present in the flask alkaline.

Q3






